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Find the the value of x, frequency
distribution and variance.

xi 0 1 2 3 4 5
fi x-2 x x2 (x + 1)2 2x x+1

It is given that N=60, then we will get

(x − 2) + x + x2 + (x + 1)2 + 2x + (x + 1) = 60

After simplification

2x2 + 7x − 60 = 0

We will obtain two factors

(2x + 15)(x − 4) = 0

We will consider below because
other will give -ve value of x

x − 4 = 0

Value of x will be

x = 4

Thus, we will obtain the following
frequence distribution

xi 0 1 2 3 4 5
fi 2 4 16 25 8 5

Finding out variance

N = 60,
∑

fixi = 168,
∑

fixi
2 = 546

Variance = 1
N

∑
fixi

2 − ( 1
N (

∑
fixi))2

Variance = 1
60 546 − ( 168

60 )2 = 1.26
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